. WE
oA SRBAE 010862 ARA AWE

Ll Ko KI36 W 3G, TE oy poof- 0 A%
— HOn> WmE R W B 7 e Py TRL

12 B b WEY BRI« T8 o 4 oyt ra3y
et e Foeg <N 1320 1 ST RL

Lol BRte B BB w5, 15 5 4 B9 1 E oo,
=V AR To%“t“iak $HR N %,
=4 Thfe < 2k CTEIT g, i@%ﬂ)égﬂl
AR NE &R - A MS5Fncedsy,
I Loy, B B . pom g B e Bk
Pt AR <t B 15 Td T B,

IS 7 P ¥ IO S ST
0T S48t thu

E/ﬂ- ‘U\“ﬂq T LT w g\t Fol | ¥ ;g_//%\ %l—@’t% Q‘F% < € %
T TG I T T F o

L B3 780 2900 A = v 1 3 Rac S TUR
B hH% o BR (1B 37w < MGG, 8 fesgi< £
I3 BAT RO Co VRS TR S 152 55 14
LFEE iR < T 4010 BB 80
)% A3k |

? 282"l L M e T Pﬁ?\\fi 7SN <
—%@%K*&}Tﬂ ,



-{T—l' #:;ﬁ/{ : A\ ‘“;—.‘

| = [+cosh + A swD

AN

b= [ 05T T s D
N\
(tr = E(CDS%fzgiw’g)

=i
N

=N

B

e, | —

N

]
<]
G

==t

C

7 - COSTZ”(* Iﬁv\% = 4

T _ COS(-E)Jv \ . ( 1)

e 5 1$W\"2

(- 2358 0 Q

R Tz = 30, \
_Q3 CQS’L



1.4 (\+A\)(m= (Jg)[m ( (0s 200 + A\QT\/\Z_S—OR>

= Zm‘
\( [m- (m( COSLGUE* N ((TU'DTK
i 1B)7= 2 3 0 AW
o7 1L~ &
= 2 ( -zt 05 )
21
-—M{e14 05
=76
1—[—\5’- STU\% ‘—Q‘ -Ql
2
cosy - L
2
NS -0
tand = e ’Q_\G
Qe g

AN N N
I_L(b _9}9)( Q}‘Q - [CQS@ +A§QV\@>&QBS(9’\-AQ\\A?)

= (06S§ cosy — Stmbew ¥ /}(S\\V\&CQS(P{- CZSTQW
. wu

Q{sw) _ cos(pte) £Tisu(beV)

pt i = Wy = a=d mo A=l
FV v g (§5Y) = 003G 0SP — St StuE
St B+Y) = st Beosp + coSbstwl

St fos® + wshemy | st s — swmb s (T

TS50 bR e A vTE Ly



:th . = x+€|3“ T H <.

Q’“’T'ﬁ + %2 20L _ WQ‘X“ QT(‘(‘;{-ZIE)'

= Qf k.g QDS(U-Q—ZT()‘% )EQM%—&ZUD
= Qi ( CD'S% Ay }\s‘?vda,)

R :(ﬂ\g
5> 2 By oy

L. 2- o+ ek (henNn )

Lol o= k), de=datt) 0 o =0 2B P2
PN | ettt T Ah) = A+ CAHER
X =0 \=tE>unh e,
RpE )= Ot , L) (e WHlek,
L) - it +Ch 3= (=0 = <9 Bk 177,

> Ly A= IHhie, L=t . A= = (= e dlel

L= it Gl = ¢t + ¢ % IT< 1 =0 v 0 B
T uB) B AOE N BRIB (TR T T3,



j(\ = B e
Nk o
0 1 WA A = hat—% o
ol % o= B
2987 £ Dot + o

N\ [
i _ o ¥ ot : A
[U \4' WAL = o vx.) i 1= R ’qﬂ.?
= 7 o o SV B AL R

08 = k(-h) = me TR g e 825 E
TN BKE) ) EE




m;g \%\j\ ‘F\\\ /Q— i’é% 7) ﬁi%’é@\\‘g\\\c’d}?} .

ASN

= —=tr

— Ve -

m g = — k)
) = %\Lo) Stuw £ ho) &S Wt LW = (%) .

T6H, WS AT o = S hoy= 0 = AT




